Chapter 1 Review 



Name:__________________________________Hr_______
Section 1-1 Content

For #1-4, write each set of numbers in set-builder and interval notation, if possible.
1. 
[image: image61.emf]



2. 
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For #5-8, determine whether each relation represents a function of x.

5. The input value is a car’s license plate number, and the output value y is the car’s make and model.
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For #9-10, find each function value.
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For #11-12, state the domain of each function.
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13. Find f(-4) and f(11) for the piecewise function 
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14. An elevator starts with 12 people on a building’s 8th floor.  One person exits to each floor.  The lowest level is two floors below ground level.  The function 
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 gives the number of people on the elevator after a person exits to that level.
a. Write the relevant domain in set-builder notation.

b. Write the range in set-builder notation.

Section 1-2 Content

For #15-16, use the graph of h to find the domain and range of each function.
[image: image48.emf][image: image49.emf]15. 





16. 

17. Use the graph of the function to find its y-intercept and zeros.  Then find these values algebraically.

[image: image17.emf]
For #18-19, Use the graph of each equation to test for symmetry with respect to the x-axis and y-axis, and the origin.  Support the answer by confirming algebraically.
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19. 
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20. Graph 
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 using a graphing calculator.  Analyze the graph to determine whether the function is even, odd, or neither.  Confirm algebraically.  If odd or even, describe the symmetry of the graph of the function.
21. The approximate numbers of annual visitors to a park from 2000 through 2008 can be modeled using 
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, where x represents the number of years since year 2000.

[image: image53.emf]



a. Use the graph to estimate the number of visitors to the park in 2006.





b. Find the estimated number of visitors in 2006 algebraically.





c. In what year did the number of visitors first exceed 20,000?

Section 1-3 Content

For # 22-25, determine whether each function is continuous at the given x-value(s).  Justify using the continuity test.  If discontinuous identify the type of discontinuity.
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26. Determine between which consecutive integers the real zeros of each function are located on the given interval.
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[image: image54.emf]For #27-28, use the graph of each function to describe its end behavior.
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28. 

29. The per-person cost of a guided climbing expedition can be modeled by 
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, where x is the number of people on the trip.

a. Graph the function using a graphing calculator.  Use the graph to identify and describe any points of discontinuity.

b. Are there any points of discontinuity in the relevant domain?  Explain.

Section 1-4 Content

[image: image56.emf]30. Use the graph of the given function to estimate the intervals on which the function is increasing, decreasing, or constant. 
31. Estimate and classify the extrema for the graph of the given function.
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32. Find the average rate of change of each function on the given interval.
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33. A lost boater shoots a flare straight up into the air.  The height of the flare, in meters, can be modeled by 
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, where t is the time in seconds since the flare was launched.

[image: image58.emf]a. Graph the function. 




b. Estimate the greatest height reached by the flare.

Section 1-5 Content

34. Use the graph of 
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35. Identify the parent function 
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.  Describe how the graphs are related.  Then graph both together.

Section 1-6 Content

For #36-37, find 
[image: image32.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

x

g

f

and

x

g

f

x

g

f

x

g

f

÷

÷

ø

ö

ç

ç

è

æ

×

-

+

,

,

,

.  State the domain of the new function.
36. 
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For #38-39, find 
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For #40-41, find 
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41. 
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For #42-43, find two functions f and g such that 
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Section 1-7 Content

For #44-45, determine whether f has an inverse function.  If it does, find the inverse function and state any restrictions to the domain.
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46. Show algebraically that f and g are inverse functions.
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